| N of associated (recoToSim) looper tracks vs dxy(PV) |

| N of associated (recoToSim) tracks vs dxy(PV) |

N of reco track vs dxy(PV)

9 —_
.O/m -oo.m\
N o —
|5W Jo =
B L
lox = ==
e o3
z [N
dn© = JN©
g S &
“1© -1
[N
o n
=] &
12 1o
0 &
4 15
S b
1§ -
4 1 —~
) N camaecY
=} =Y IS °© o o o =
I — B — I —
syoel) ajeoldnp oney syoel ayedldnp oney
Q- =
£ £
o O 0 O
N o=
> >
oo So
o X1 Sy
— T o T
X x
3] NG
© s o g
o =]
[N
e o
Sl h
— i (=]
i &
s (=]
] b
= e
L0 L —
w._/_ — NV m — 2 hal eyl
3 S ) 3 S
syoel axey oney | syoen axey oney
(bbb}
1111
[aTaTaTal
o | X0
g Lo B
o o] X 0 G
B N °<
S
o S
s >
S sHuoos Rl
o LU0 B
—— o8
o == o
[N
0 £ (=}
o JIIl11 <&
T 1D S
[ faTaraTal b
" (000D <
S 3
N P i
L oo ;
S S 51 oo
B 3 S S
syoes} angy oney >| ssyoen ani
KKK
[N
W -
= =
o O 0 G
o SLLLL] S
> >
EF S>> %mr\
[SEildddd) < <
— nonnN -~
O NG
© o g
= =
o =]
N
i o
] 4
=]
0 B b
— < =
S
& g b
I I
S _
= ° =)
z

syoen

5
syoen oney

| N of associated (recoToSim) looper tracks vs dz(PV) |

[N of associated (recoToSim) tracks vs dz(PV) ]

N of reco track vs dz(PV)

10 20 30
track dz(PV) (cm)

0

o
—
sxoel areoldnp oney

10~
10

10 20 30
track dz(PV) (cm)

0

ey

20 30

10
track dz(PV) (cm)

20 30

10
track dz(PV) (cm)

-20 -10

0

.95

syoen

1

0.5
track dz(PV) (cm)

0

| N of associated (recoToSim) looper tracks vs dz(PV) |

[V of associated (recoToSim) tracks vs dz(PV) ]

N of reco track vs dz(PV)

1

0.5
track dz(PV) (cm)

0

e

syoen axe}

1

0.5

track dz(PV) (cm)

0

syoen




	Contents
	Page 1


